TH 192 o 5RAZHY ABC oItk H 0 & 94l H 1 dalol 1,
(A =38°, /0 =76° ¢ o, ZIBO & 27]&=?

Flo

®ue  @n2r Qs @1 617

~&B ~

1
(BIC =90° + EABAC = 109°

£OBC = 52°, /IBC = 35.5°
£OBI = /OBC - /ZIBC = 52° - 35.5° = 16.5°




oha ellA A 1= AABC 9] WAloloh /IBA = 30°, £C =704
o, 2x9 2717

A

@® 20° @)25° ® 30° @ 35° ® 40°

(B=2x30°=60°
/A =180° - (60°+ 70°) = 50°

o /x = /IAB = % X 5H0°=25°




3. o& I A I7F AR WAL o, 9] 271

A

40 C

@ 20° @ 30° @40° @ 50° ® 60°

/x =180° - (40° +30°) x 2 =40°




= 1HoA AABC = Al He] Zol7F Z+2} 6em, 8cm, 10cm 1
2747k ol a1, M 1+ aABC o A o, AIAB 9] YWol&?

O 4cem? @ 6cm? ® 8cm?
@1001112 ® 12cm?

WHA WA E-2 rolet & uf
(AABCE] Hlo]) =

X8 X6

NN | =
'-lkl |

Xrx(10+8+6)

. r=2cm

(AIAB ] Ho])= % x 2 x 10 = 10( cm?)




